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01) The phasor voltage V=S/ 0° Vis 2 ) ,:?;ieci across the imoedance Z=4 / 60° 
Cl . If w=n Rad. /S, d7ai.v on the s1!71e graph the followings: -a-The instantaneous power p(t) with time t. 
b-The voltage v(t) with time t. (15%] 

l/(f) -:: '\<.vs( l'('t) 

- ~. 

j:( Q2) Evaluate R in Fig.l to which maximum power is supplied. [8%] 
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QS} A balanced 8-load is connected in parallel with a balanced Y-load. The 
impedance per phase for 8 is so/ -30° 0 and for y is 2s@0 0. 
If v.,=200/0° VRMs and assuming positive phase sequence, find: 

a-The current lab· 

b-The reading of the wattmeter connected in phase C with its 
potential coil connected between C and_ N of ~he Y-load. [35%] 
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